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Code No. 36-NS

Total No. of Questions : 21 ] [ Total No. of Printed Pages : 7

March / April, 2006
BIOLOGY (Part 1) — BOTANY

( Kannada and English Versions )

( New Syllabus )

Time : 1% Hours ] [ Max. Marks : 45

( Kannada Version )

ZouEneh o ) en3,and menndsy Mokess wBInYRy YA

i) R MOTIEAT ¥ZNEN WOT LTSN

won -A

B3 B9NT B RYNR wOTD 398, VT WO BBTE), LI 0 : 5x1=5
1) 23ees3Redt 03w Wonad), @pLsest H03 eRm SWosNS,T ?
2) Qe Seekon®’ Q0TTeRd ?
3) IBA o3y &%,0% WICW0.
4) RRNY T 22T 0300 F YOMA0BTY, BROA.

5) ®&e80ee ( Transcription ) Q0Tesd ?
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Code No. 36-NS 2

10)

11)

12)

13)

5on -B

B3 3YNT [FNYE), OSNFTTTR XX FFNRYR TTRTY 2 - 5 NS, w3 0 :
5x2=10

29,003,535008 YOM0BT3 0330300 R T, F0RFNETY LTOWD.

2R CORTLAS S 6%, A3 3 VRS, PN, Moes.

2336350 “2022203H007° 7' TE), AT YOBJFTLANSTY, BROR.

Rodes woE, Be-RogeIried o) 833 ?

2336303 QOR0ZBINT 0T 7 M3 0O CSRTYTTITRTR DTHE FoORENSTY,

PR

WORAWER 0B, WOCRTRE  DRWER0D  (NODFIYTE) Ty, TS9ANGTY

20B00.

on - C

85 3YNT BJNYE), CBRPYTITETL TN

, BNOR e[IO0FE RN 200 - 250

IoME, NI ON 4x5 =20

TOB,F H0TE,B0 0RO DNA R0, 080M0s FERT, HF0R.

0,200 o3BT WERHR  Q0T3eRD 7 QTIY ARNG  TOBRT {800 TO3T

WLTeIN0E), 2% T0z30080 ( Intrastellar ) 3$EeIRONTY, LSOA.
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14)

15)

16)

17)

3 Code No. 36-NS

RT3 ReNT DNA S032R0 30008 wRyORR), R08 ms Hmasmy, QR0

BR3GLOD FTPEZRTIRY DSEBTR 03RWTNG, TBIHZ,T, LITONC.

TR QTIDBOD WIFWARETO AT AT 0Ty, XOA. B ATIY0BT 20T D 3B,
BT, LITOWD.

WOBTodo BOZRIT WPOR0T WR,T ©3,003y, ( Golden rice ) 0T QRRE Wit Ten
? OT0 DTN, 30Dy, SR

Zon -D
B TIAT BB NSE), CRWYTOTTH 2.08 I <030 ¢ 5

18) IpRragze 30 ( Preparatory reactions ) 03 2031 g 35w ( Kerb
cycle ) B3peTog, B@AT,RNTY, ( Schematic representation ) 230. 5

19) 83 FSAI[YNYNR 5060 PR : 5x1=5

a) 1962 T8 @R ( Watson ) @03, 33° ( Crick ) 3p0e° I3R,
BAETR.

b) W T, NYRY, AORE), SVATN ¥ L0e,3 3.

c) ©om03 F ( Tissue culture ) ¢S, 303 e FEdpeddm® ( Synthetic

cytokinins ) nsb 8 ©£53,3.

d) RIMOTE) FTT 883 WNOIRYTY, STOEN FT0e3,e0 TR &5 3.

e o) RRALE. DOH SAMAES, INCELRI0T FRAL  BpToN
2390308 33,
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1. (5303ReNE BB,500 I3 =0T,

B3 3YNT CTRRTITTR 208> FF R WZ 0% : 5

20) YOT@IE WIE FTODOOTW NIRY AF,E  K¥08 or, Aewdod ( T.S. of
Monocot root ) 238, &R LTNNTY, BI0A, L0

21) a) HYT0oG, wOTTCPR ( Stomatal apparatus ) g WRR, ZTNNIY,

TROA. 2
b)  “Fpec30” ( Phloem ) 8 To00, YOTONNTRY, S9A. 2
c) QB¥ AR, TORE T|PeRWTA® ( Hypodermis ) &6 00%E ©0me03

033059 ? 1
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10.

11.

5 Code No. 36-NS

( English Version )

Instructions :
i) Draw diagrams wherever necessary.

ii)  Unlabelled diagrams do not get any marks.

PART - A
Answer the following questions in one word or in one sentence each :

5x1=5
Name the cell organelle where protein synthesis takes place.
What is vein loading ?
Expand IBA.
Name the simple dead mechanical tissue of plants.

What is transcription ?

PART - B

Answer any five of the following in 2 to 5 sentences each : 5x2=10

Write any four functions of parenchyma tissue.

Draw a labelled sketch of T.S. of chloroplast.

Mention the tools used in genetic engineering.

Where are the Codons and Anticodons present ?

What are growth regulators ? List any two applications of gibberellins.

Write any four differences between Transpiration and Guttation.
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12.

13.

14.

15.

16.

17.

PART - C

Answer any four of the following in about 200 to 250 words each
wherever applicable : 4 x5=20

Describe the semiconservative method of DNA replication.

What is secondary growth ? Describe the instrastellar secondary growth

in dicot stem.

Describe the technique of Insulin synthesis through recombinant DNA

technology.
Write the schematic representation of Non-cyclic photophos-phorylation.

Explain the transpiration pull theory of Ascent of Sap. Write its one merit

and demerit.

How is golden rice produced by the genetic engineering method ? Mention

its importance.

PART - D
Answer any one of the following. 5

18. Give schematic representation of Kreb cycle along with preparatory
reactions.

19. Give reasons for the following : 5x1=5
a) Watson and Crick were awarded Nobel prize in 1962.
b) When dry grapes are soaked in water the dry grapes swell.
c) Synthetic cytokinins are very essential for tissue culture.

d) It is difficult to open and close wooden windows and doors

during rainy seasons.

e) Removal of Apical buds in some plants makes them to grow

bushy.
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7 Code No. 36-NS

( Questions only from practical syllabus )
Answer any one of the following : 5

20. With neat labelled diagram describe the structure of T.S. of Monocot

root.

21. a) Draw a neat labelled diagram of stomatal apparatus. 2
b) Mention the different components of phloem. 2
c) Name the tissue present in the hypodermis of dicot stem. 1
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